
Roll No. ........................... Total Printed Pages - 4

F - 3008

B.Com. (Part - I) Examination, 2022
(NEW COURSE)

GROUP - III
PAPER SECOND

BUSINESS ECONOMICS

Time : Three Hours] [Maximum Marks:75

 


Note: Attempt all the five questions. One question
from each unit is compulsory. All question
carry equal marks.

1/Unit - 1

1. 
  


P.T.O.
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'Induction and deduction are both needed for scien-
tific thought as the right and left foot are both needed
for walking'. Discuss.

/OR




What is law of Equi-marginal utility or law of maximum
satisfaction? Throw light on its practical importance.

2/Unit - 2

2. 



Explain the law of demand. Why do demand Curves
slope downwards to the right? Explain the circum-
stances in which demand curves slope upwards.

/OR




Define elasticity of demand and describe the factors
effecting the elasticity of demand.
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3/Unit - 3

3. 


What do you mean by Iso - Product Curve? State the
characteristics of Iso - Product Curve.

/OR





What do you mean by returns to scale? Describe its
determining elements and state the causes of
operations of increasing returns to scale.

4/Unit - 4

4. 


"Monopolist is a king without crown." Explain this state-
ment and write the difference between perfect com-
petition and monopoly.

/OR



P.T.O.
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

How are price and output determined under
oligopolistic competition? Explain in detail.

5/Unit - 5

5. 


Explain critically the marginal productivity theory of
distribution.

/OR

        


Discuss the modern theory of Rent. How does it differ
from the Recardian theory of Rent?


